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Time: 3Hrs. Max Marks: 30
1. Formula and Procedure (2+3)=5 Marks
2. Tabular form - Observations and graph (2+4+2)=8Marks
3. Calculations - Result and Units (4+1+1)=6 Marks
4. Precautions 2 Marks
5. Viva - Voce 5 Marks
6. Record 4 Marks
Total Marks 30 Marks
Note:

1. Every candidate shall submit the certified practical record book to the practical examiner.

2. One mark should be awarded for every five experiments.

3. If a candidate attends the practical examination without certified practical record book, he may
be allowed to take the practical examination. But record marks shall not be awarded to such
Candidates.

4. Only one question should be taken from Part - C and 12th question may be taken from other

parts.



Practical Question Bank

PHYSICS
Part A

(Vernier, Calliperse, Physical balance, Simple pendulum, Screw Gauge)

Find the volume of the given brass/steel sphere using Vernier Callipers and hence
determine its mass (Take 6 observations, given density of brass: 8.4g/cc and density of
steel 7.9g/cc).

DOYOHA DOy WNAPAD ANND HEI0 ([PE / Jew) g, DOIDBIEPY
SROF OB, TPALIDWBIAT, e FFH0 G0, GO ST HD (VGG Fogd = 8.4 T

/ 3. 0.2, 06050 Red oGS = 7.9 T / 0.20.20. (836) HOFVILM SREMEH.)

Find the volume of the given rectangular glass plate using Vernier Callipers and screw
gauge. (Take 4 observations for each dimension).

20)0306 D6y 2B ATYARVRDABTNOD DN Y DBBFTTCYD e DOE WY,

DOVDOATEPDY ER0F 0000, (28 WA LIV T DOIVDLD BLEH0BW).

Find the volume of the given Cylinder using Vernier Calipers and Screw gauge (Take 6
observations for each dimension).

DY AP °0DEy BAED AIRHRVRVDAITACD FAND WD AL, DDDOITEF)
ER0F 080, (2D WA 88 HOFVIVR AL AW).
Using Physical balance, determine the mass of the given body correct to a milligram.

7&33‘)’@@ TP &DABITNO Q;?rﬁ)‘)é QWY AE); Q:.)ZSO"'?D QYT HBL DO

S0 Dod.

Using Physical balance, find the volume of the given object. (The density of the material of
the object should be given to the students.) (Density of brass: 8.4g/cc and density of steel
7.9g/cc)

RO B ToRw &30 f‘ai)aé DR ), ;»fcx:oww%smﬁ“ao&. (520 SV VO
FoGBR0 Ioeg0S AV(HTW). (AGE JFoge = 8.4 10 / . 20.20. S0BA3D [ Fogd =

7.9 T°/$0.20.20.)
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11.

Find the acceleration due to gravity at your place using Simple Pendulum. Calculate the
percentage error in your measurement. (Take 6 observations).

LOVS VEDN EDAPACD DY VBFIVS” WS BT SX0FDod. 2 Foses’d 8

FoE) S20FD0. (86 82030 HE0A.)

Find the acceleration due to gravity (g) at your place using Simple Pendulum. Draw [-T?2

graph and verify the value of "g" with the value obtained from the graph. (Take 6
observations).

LOVSTVEDND  EDATPACD  EDY  VAFANS’ HAS] BB  AIE), Jewddd [g]
SR D0c. [-T? 7D A e Mol G 0D MHES( SSeasd DeHE HABTELY DD

DOETE0S. (€360 HDOFVILI B 0d)

Draw [- T2 graph in the case of a Simple Pendulum and find the length of the seconds
pendulum. (Take 6 observations.)

VDS VLR EDATAD /-T2 T A T &od VLY Sl dNE), FeDERFT Do,

(e300 HORLIDLID NS A, )

PART -B

(Force constant, Concurrent forces, Boyle's law)

Verify Boyle's law using Boyle's law apparatus (or) quill tube apparatus and plot h—%
graph. (Take 6 observations.)
eSS HOEGHL (Toe) 8¢S twrgen DOSCAL DEFADANSE eSS QADJTY 202 B

h—% 5 Ao, (2360 HBFLDVXD BER).

Plot h—% graph using Boyle's law apparatus (or) quill tube apparatus. Find the

atmospheric pressure from the graph. (Take 6 observations.)

erond HOSCAD (So) S¢S ewren DOSBHD 23FADINE h—% - TR HD o ol

TTPHED iaaaobi E0F D08, (380 HORVIV BT 0A.)

Verify the parallelogram law of forces and find the weight of the given stone in air using the
parallelogram law. (Take 2 observations in each case).

DIFodE BB DOIADITIYDBEFEE. I &DAPAD m™deS° oo o)
EH0FD0&. (2D e“ooch?)éDéséo Boc HDBwDLR 3. )
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Find the relative density of the given body using parallelogram law of forces. (Take 2
observations in each case.)

DATBE BBUWN VIADIT)  &OAITAOW) RUND TZ0W WS, T EBS Jrogt o
FDE FoGBR) 0TS, (LD e“ooch?)éDéséo Boc HDBwDLR 3. )

Verify the triangle law of forces and find the weight of the given stone in air using the
triangle law of forces. (Take 2 observations in each case.)

822 20 JoHIEY) VOSFEG. T GOWATNOD Trow TS’ E0FHod. (28
R0C56 B0 0 Tochd DOIVIVE BEd.)

Find the volume of the given stone using triangle law of forces. (Take 2 observations in
each case.)

Gava 0O JOVATE) &OAIPAOD FDND TPON CIE), POIDBITEP) ST Do, (9B

&oéda:.wéﬁéo B0 HBIVIV BT 0A.)

Find the force constant (or spring constant) of the given helical spring by the method of
oscillation using different suspension weights. (Take 3 observations in each case.)

QNS V0N i:o:;oﬁ D), LOJToSAV (S i:o:goﬁ SSEERNNYY) Eeod
DEBRDAPACD DAG LADORD DerEdD SAFRVBL. (VB VosTeyIS Jared DBFVIOR
A8 8.)

Part-C

(Apparent expansion of liquid, Specific heat, Surface tension).
Determine the coefficient of apparent expansion of the given liquid using specific gravity
bottle. (Mass need not be calculated correct up to milligram.)

Fogeh G EDWTAOD DN BHAD L), Bygy TES ragaw v (GO0
Q0T HELH DB EXFDDRG0 Se).

Find the coefficient of real expansion of the given liquid using specific gravity bottle. (Given
that the coefficient of linear expansion of glass = a g = 0.000000009 °C™") (Mass need not
be calculated correct up to milligram.)

Jrogdeh BOGR) GDAITH0D QNS GO Ad0E); Z)az,a*’zggsé (0eas)  SF DG, (B950°3
Z.b%)@)é.p DO DHBOD ST DBV Sed) (e dBwE) QQ% :yégeé gD = o g =

0.000000009 °C™)
Find the specific heat of the given solid by using principle of method of mixtures. (Mass
need not be calculated correct up to milligram.)

QB DB GDATAOL RN PGB W), :)%gﬁgmm SR Doct. (B550°3 Zb@[rm
DB VB0 DA DHDGA0 Fe).

Determine the surface tension of water by capillary rise method.
E39 T DB A T, BLBRFBERFT DG
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PART -D

(Concave mirror, Convex lens, Refractive index.)

Determine the focal length of the given concave mirror by u-v method and verify the result
from u-v graph (Take 6 observations.)
FND DTG BGy TH[EST ) U-V DGS T SR, U-V I DenHE DORTEE.

(e300 HOFVIVI HZVEA.)

Determine the focal length of the given concave mirror by L method and verify the
u v
value from graph (Take 6 observations.)
“6?!:)')86 DESE BOyE TF[ESTA) U-V DGEB &(oe S0AD, e 1.1 DLVHL TP o)
® u v
2OBod. (960 HDOFVDIVR BhEod.)

Determine the focal length of the given convex lens by u-v method and verify the value
from u-v graph (Take 6 observations.)
FUND D0FSE S0 TP[oST D) U-V :che‘.’éeS6 QBo0w), DIND DD U-V T7) Ko

PBATEG. (36> HDOFVIVRD BiEod.)
Determine the focal length of the given convex lens by u-v method and verify the result

with L graph (Take 6 observations.)
u v

QNS DoFSE LS TFP[eST)  U-V DEAS” dgood), 2y 1.1 T oo
® & u v
DOBTC0S. (86 HOFVIHOLI H:VEA.)

Find the focal length of the given convex lens by conjugate foci method and verify the result
with the value obtained from u-v graph. (Take 6 observations in each method.)

DABVAD ToEV DEBD QDN L0756 S TP[oBSANAENN, T° DLVD U-V TR
000 DOBTEoc. (361 HDBIVIVIL BEod.)

Draw i- d curve and find the refractive index of the material of the given prism (Given that
the angle of the prism, A = 60°.)

i - d 5830 B DD DY DTFGAD CIVE), HFBHD DS 0TI, (s S A =
60° A0 L.)

Draw i - d curve and determine the angle of the prism (A) assuming the refractive index of
the material of the prism, ¢ =1.5.

i - d 5830 A FDND DS Eeasna (A) E20F Dok, (e DGR B0, HSEHD (e
1 = 1.5 ™ H:Ed.)
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PART - E

(Velocity of sound, Magnetic lines of force)

Determine the velocity of sound in air at room temperature using resonance apparatus and
calculate the value of velocity of sound at 0°C. (Use 2 tuning forks of different
frequencies.)

VTP HOEBHV  EDATAOL) (O agﬁgéog 9eS° B I S d0d. &I
&DAPA0D) 0°C &S O SEAD™) T8 otdoc. (Sotd DB D eIRDRFHWVD (fo
B D0 ANV EDABTHOLI0G. )

Compare the frequencies of the given two tuning forks using resonance apparatus.

ROTES DOET°Y &DAITNOD AV Toth BBS0cirR J7: YL L& T'oyod.

Draw the magnetic field lines in the combined,magnetic field due to the earth and the short
bar magnet placed in the magnetic meridian with its North - pole pointing towards the

geographical south. Locate the Null points and calculate the Magnetic Moment of the given
bar magnet. (Given that, horizontal component of earth magnetic field B,, =0.38x107* Tesla)

28 0TI 0T, FP VY, WOLIY o CIrARIBS S BIS, T AWE), &SV
GHOBW P G, GEB DRDID €ow) € BoCold Koodng eao:ua“zjoeé E3500¢5°,
ODI) 0% OB A S0 Docdiped HGo), CSOTFAI 0B CBE), WA oS
sy (M) E20FD0d. (B, =0.38x107* S Szn€'ed)

Draw the magnetic field lines in the combined magnetic field due to the earth and the bar
magnet placed in the magnetic meridian with its North - pole pointing towards

geographical North. Locate the Null points and calculate the Magnetic Moment of the given
bar magnet. (Given that, horizontal component of earth magnetic field B,, =0.38x107* Tesla)

28 GSOTRODIYOT ) FPA ), VALY 0 CIrARBS S B3, T W), &S
GDR0 P Y, GB6o DIDOL God) & Todotd WVookNG WODI oS FGHNS’
ODI) 0% OB A S0 Docdiped HGo), CSOTFAI 0B CBE), WA oS
o) (M) 82080, (B, =0.38x107 SFre Sw€od)
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PART-F

(T.G., Ohms law, Metre bridge, Junction Diod, Transistor)
Find the strength of the electric current in an electric circuit using tangent galvanometer.
(Take 6 observations.)

EPoSBotS Per(T® Q) EDEIPA0D FAND DEFS HLAHIVS’D DBFS VI ST D,
(e38 HBFVILI A )

Determine the reduction factor or galvanometer constant (K) of the tangent galvanometer
using ammeter. (Take 6 observations.)

esfbéeodo 0PN EroBots TPerT Hoeadd CIE), OArE6E P68 T eI RTP0gH0
(K)&0 8208008, (et HORwdO B8l )

Verify Ohm's law using R-cot 6 graph method. (Take 6 observations.)
R-cot 6 7rap) DGA &0 oI 2wersd) Bopod. (6 HBFVILM B0l )

Find the specific resistance of the given wire using Metre Bridge. (Take 4 observations.)
DOH g &DAPA0D ADNO 8 g, DY ) EWFDd. (FPeord DBFVBOK

S0E04)

Find the individual electrical resistance of the given two wires by connecting them in series
and parallel using metre (Take 3 observations in each method.)

e QG &DArNOD FDND Tocd A $e3e5° 0D B0 NATOBBEVTTRD DOTPHAN B3N
e A GB0E), DeSooHS DT SANDAD DEDET 006, (Bared HBFVdLR N0 )

Draw Current - Voltage (I-V) characteristics of the junction diode. (Take at least 6
observations in each bias).

000 GaIrdy dlwg), DR LG (I-V) edogen S50 ACKDW. (OB oS &' 8o
B3 HOFVDOVD B AE).

Draw characteristics of common emitter n-p-n (or p-n-p) transistor configuration and find
the input resistance and output resistance from them.

n-p-n (St°) p-n-p ARS8 &I &ErES DIPR BDVER STV (D, P ok VY
DTS00 00030 g AT S dod.

Draw characteristics of common emitter n-p-n (or p-n-p) transistor configuration and find
the value of current gain using transfer characteristics. (Take 6 observations.)

n-p-n (Go) p-n-p ErARE G2 d &IPS TR wDuER STV A, ErAyRoedULR
DFO B0G YD DY Lo (B) &0 S20fD0c. (e HOFVIV AT R)

The End
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